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ALGEBRAIC EXPRESSIONS

1.Add:6-3a+b,a-7-6b and 3b + 2-a.

° Watch Video Solution

2.Subtract : 5z — 322 + 8xy from Tz% + 3zy — 4z.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kHpTOXYME6tQ
https://dl.doubtnut.com/l/_vdSd58VTBPM9

3. Subtract 12z + 3y — z from the sum of 7z + 4y —5z+ 5 and

6x — 7z — 8.

° Watch Video Solution

4. Take away 8¢ — 7y + 8p + 10q from 10z + 12y — 7p + 9q.

° Watch Video Solution

5.1fa=3x-5y,b=6x+3y and c=2y-4x. F € d:(i)a+b-c, (ii)2a-3b +

Ac,

° Watch Video Solution

6. The perimeter of a tringle is 1522 — 23z + 9 and two of its sides are

522 — 8¢ — 1 and 622 — 9z + 4. Find the side.

Adx? — 222 — 6


https://dl.doubtnut.com/l/_gxsZVs9Rj1op
https://dl.doubtnut.com/l/_nzPGdnMTB90R
https://dl.doubtnut.com/l/_NpZNldojiqEB
https://dl.doubtnut.com/l/_ANA8MPKkArGd

B.4z> + 222 + 6

C.4z%> — 22z + 6

D.4z% + 22z — 6

Answer: C

o Watch Video Solution

7. Multiply 6a%b® and — 4ab*.

o Watch Video Solution

8. Multiply 8a2b — 3ab + 5b° by 6ab.

o Watch Video Solution

9. Multiply z2 — 4z + 7 by x- 2.
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https://dl.doubtnut.com/l/_ANA8MPKkArGd
https://dl.doubtnut.com/l/_fnEGiNb6gpEr
https://dl.doubtnut.com/l/_CVBkOLrfptxh
https://dl.doubtnut.com/l/_13i31ytBfUKB
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10. Multiply 2z° — 7z + 8 by 3z* 4 2z.

° Watch Video Solution

1. The adjacent sides of a rectangle are 3z% — 2zy+ 5y° and

22> + 5xy — 3y>. Find the area of the rectangle.

° Watch Video Solution

12. Multiply 3z%y and — 2y Verify the product for x=Tand y = 2.

° Watch Video Solution

13. Multiply — 5zy%, — 3x2yz and 8yz?. Verify the result for x=1,y =2 and

z=3.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_13i31ytBfUKB
https://dl.doubtnut.com/l/_NgwYI4VPEqOJ
https://dl.doubtnut.com/l/_2mV3FPi706bX
https://dl.doubtnut.com/l/_dnkSKvElL5hB
https://dl.doubtnut.com/l/_nl3YugchQ6sj

14. Divide :

36a” by —12a®

o Watch Video Solution

15. Divide :

—50a%b® by -15a*b?

o Watch Video Solution

16. Divide : 9a° — 6a® by 3a’

o Watch Video Solution

17. Divide : 822 — 45y + 18zy by 2x - 3y.

o Watch Video Solution



https://dl.doubtnut.com/l/_nl3YugchQ6sj
https://dl.doubtnut.com/l/_ffcEt2XimmkW
https://dl.doubtnut.com/l/_TZHDLrVxGkia
https://dl.doubtnut.com/l/_JpbfDiRIdZjd
https://dl.doubtnut.com/l/_LOjLIywmucJS

18. Find the quotient and the remainder (if any), when,

22> — 822 4 5z — 8is divided by x - 2.

o Watch Video Solution

19. Simplify: 84 — 7[ — 11z — 4{ — 17z + 3(8 — 9 + 5z))}]

o Watch Video Solution

20. Simplify :

:1:5+x7><x4

o Watch Video Solution

21. Simplify :

:1:5+x7><x4



https://dl.doubtnut.com/l/_LOjLIywmucJS
https://dl.doubtnut.com/l/_RxIqLoVDmZ4b
https://dl.doubtnut.com/l/_GHnaYU8k4XZK
https://dl.doubtnut.com/l/_zqqvLJz8VvKj
https://dl.doubtnut.com/l/_aWqFjTI2gcoh

| Y Watch Video Solution

22.Simplify :

By x [6y+3+{4— (By—2y—4)}]

° Watch Video Solution

Exercise 11 A

1. Separate the constants and variables from the following :

3yz
—7,7+z,7x + yz, /5, \/TY, ?,4.531—3:13,8—5,8—5:1:,83:—5y><p

and 3y%z + 4z

° Watch Video Solution

2. Write the number of terms in each of the following polynomials :

522 + 3 X az

| o A _L vl . o ~_ 1.0


https://dl.doubtnut.com/l/_aWqFjTI2gcoh
https://dl.doubtnut.com/l/_MRThciwM9n1q
https://dl.doubtnut.com/l/_Sa1KSDOKxUZf
https://dl.doubtnut.com/l/_UQsC4rJDCRxF
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3. Write the number of terms in each of the following polynomials :

ar ~4 -7

° Watch Video Solution

4. Write the number of terms in each of the following polynomials :

ar —by+yxz

° Watch Video Solution

5. Write the number of terms in given polynomial :

23 +a xb+2

° Watch Video Solution



https://dl.doubtnut.com/l/_UQsC4rJDCRxF
https://dl.doubtnut.com/l/_6J2o7pCAzfFe
https://dl.doubtnut.com/l/_1Xpr8Uj3Wf7s
https://dl.doubtnut.com/l/_PP3wUuRXVeMZ

6. Separate monomials, binomials, trinomials and polynomials from the
following algebraic expressions :
8—3ac,my2,3y2 — 5y + 8,9z — 322 4+ 152 — 7, 3z X 5y, 3r + 5y, 2y + 7 -

and4 — az’ + bz +y

° Watch Video Solution

7. Write the degree of each polynomials given below :

xy + 7z

° Watch Video Solution

8. Write the degree of each polynomials given below :

2 — 62 + 8

° Watch Video Solution



https://dl.doubtnut.com/l/_6fJztxtfQvEM
https://dl.doubtnut.com/l/_wcqWFIZq8X8N
https://dl.doubtnut.com/l/_y7zl0eJRMq0j

9. Write the degree of each polynomials given below :
y — 6y” + 5y°

A.8

B.2

C.7

D. M

Answer: A

° Watch Video Solution

10. Write the degree of each polynomials given below :

xyz — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_q0rBTZbruaPH
https://dl.doubtnut.com/l/_Vl7hOqM7o0su

11. Write the degree of each polynomials given below :

Ty + yz2 — 2z

o Watch Video Solution

12. Write the degree of each polynomials given below :

m5y7 — 831:3y8 + 10.’134:1;4,24

o Watch Video Solution

13. Write the coefficient of :

ab in 7abx

o Watch Video Solution

14. Write the coefficient of :

7a in 7abx



https://dl.doubtnut.com/l/_7B2FHTfRhEOj
https://dl.doubtnut.com/l/_2G7fsNjWFBxP
https://dl.doubtnut.com/l/_IExnGlWdtQqO
https://dl.doubtnut.com/l/_fPW0VTgSrCXg

| & Watch Video Solution

15. Write the coefficient of :

522 in 5z — bz

o Watch Video Solution

16. Write the coefficient of :

8ina2—8aa:—|—a

o Watch Video Solution

17. Write the coefficient of :

dzyin 22 — dzy + y?

o Watch Video Solution



https://dl.doubtnut.com/l/_fPW0VTgSrCXg
https://dl.doubtnut.com/l/_2MwkKrBp9rdp
https://dl.doubtnut.com/l/_xyKEcGeosLmG
https://dl.doubtnut.com/l/_x9W5WcaJ7zoR

5
18.1n me2z3, write the coefficient of :

5

o Watch Video Solution

19.1n me2z3, write the coefficient of :

5
7

o Watch Video Solution

5
20.In 7wy2z3, write the coefficient of :

5x

o Watch Video Solution

5
21.In me2z3, write the coefficient of :

ZL’y2



https://dl.doubtnut.com/l/_Bm8A7MUgSlW5
https://dl.doubtnut.com/l/_zfr1T6V1vlDb
https://dl.doubtnut.com/l/_8VTndSqXIqiU
https://dl.doubtnut.com/l/_Kjb8Opg1GsTp

| & Watch Video Solution

5
22.In 7:cy2z3, write the coefficient of :

z3

o Watch Video Solution

5
23.In 7:cy2z3, write the coefficient of :

213253

o Watch Video Solution

5
24.In 7:cy2z3, write the coefficient of :

5:13y2

o Watch Video Solution



https://dl.doubtnut.com/l/_Kjb8Opg1GsTp
https://dl.doubtnut.com/l/_Uf81LqYQlEkf
https://dl.doubtnut.com/l/_KvIRgyiwpesB
https://dl.doubtnut.com/l/_o9YGSt7HA9Ep

5
25.In —xzy?23, write the coefficient of :

1
7Y%

o Watch Video Solution

26. In

5
7xy2z3, write the coefficient of :

2,2

S| ot g ot g ot ] on

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9fgrWbbBivYD
https://dl.doubtnut.com/l/_H6CQlSrdLrjE

5
27.1In me2z3, write the coefficient of :

y2?

° Watch Video Solution

5
28.In 7xy2z3, write the coefficient of :

5xyz

° Watch Video Solution

29. In each polynomial, given below, separate the like terms :

Szy — dyx?, 2zy?, 2.52%y, 8yz, — 3.2y%z and =’y

° Watch Video Solution

30. In each polynomial, given below, separate the like terms :

Y228 wy?23, — balyz, — 4y?23, — 8zz2%y?, 3zyz and 223y

| e


https://dl.doubtnut.com/l/_A9kuACq5Crd7
https://dl.doubtnut.com/l/_Z6He2x49oGHN
https://dl.doubtnut.com/l/_7Z7kgM27G6ce
https://dl.doubtnut.com/l/_5yLCJr0xqnbQ

| &J Watch Video Solution

Exercise 11 B

1. Evaluate :

—7x% + 1822 + 322 — 5z?

° Watch Video Solution

2.Evaluate :

b’y — by + 2b%y — 5by

° Watch Video Solution

3. Evaluate:

abx — 15abx — 10abx + 32abzx

° Watch Video Solution



https://dl.doubtnut.com/l/_5yLCJr0xqnbQ
https://dl.doubtnut.com/l/_uEGOk3ck7660
https://dl.doubtnut.com/l/_3y7sQApPrjmK
https://dl.doubtnut.com/l/_ktq0KO6qndIT

4, Evaluate :

Tr —9y+3—3z —5y+8

o Watch Video Solution

5. Evaluate :

3z% + ey — 4y? + 2?2 — 8zy — 5y°
A dz? + 3y — 9y2
B. 4z? — 3zy — 9y?
C.4z% — 3zy + 9y

D.4z? + 3zy + 9y°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fdoqLtocbPCC
https://dl.doubtnut.com/l/_YYMCwWH3h6cD

6. Add :

5a + 3b, a — 2b, 3a + 5b

o Watch Video Solution

7.Add :

8 —3y+ Tz, —4x +5y —4z, —r —y— 2z

o Watch Video Solution

8.Add :

3b—Tc+10,5¢c—2b— 15,15+ 12c+ b

o Watch Video Solution

9. Add :

a—3b+ 3,2a + 5 — 3¢, 6¢c — 15 + 6b



https://dl.doubtnut.com/l/_KwX3m7BhSog1
https://dl.doubtnut.com/l/_ad9gRt7yHLwQ
https://dl.doubtnut.com/l/_KtplY3dWXRhM
https://dl.doubtnut.com/l/_7JDwKiOuLSMo

| &J Watch Video Solution

10. Add :

13ab — 9cd — zy, 5xy, 15¢d — Tab, 6xy — 3cd

o Watch Video Solution

11.Add :

23 — 2%y + 5zy® + 3, — 2% — 9zy? + o3, 322y + 9zy®

o Watch Video Solution

12. Find the total savings of a boy who saves Rs. (4x - 6y), Rs (6x + 2y), Rs.

(4y - x) and Rs (y-2x) in four consecutive weeks.

o Watch Video Solution



https://dl.doubtnut.com/l/_7JDwKiOuLSMo
https://dl.doubtnut.com/l/_EHjXGcjHjMTd
https://dl.doubtnut.com/l/_0ha7XnSwDJwV
https://dl.doubtnut.com/l/_PQ82I9v7aYx7

13. Subtract :

4£L‘y2 from 3azy2

o Watch Video Solution

14. Subtract :

—22%y + 3zy? from 8z2y

o Watch Video Solution

15. Subtract :

3a —5b+c+ 2dfromT7a —3b+c— 2d

o Watch Video Solution

16. Subtract :

22 — 4z — 1from323 — 22 1+ 6



https://dl.doubtnut.com/l/_tRaKf1UMFixX
https://dl.doubtnut.com/l/_JqLde45t4sLW
https://dl.doubtnut.com/l/_nouM3TR0sy4i
https://dl.doubtnut.com/l/_pWacCH1Axptc

| & Watch Video Solution

17. Subtract :

6a + 3froma® — 3a® + 4a + 1

o Watch Video Solution

18. Subtract :

cab — 4cad — cbd from 3abc + 5bed — cda

o Watch Video Solution

19. Subtract :

a’® + ab + b® from 4a® — 3ab + 2b°

o Watch Video Solution



https://dl.doubtnut.com/l/_pWacCH1Axptc
https://dl.doubtnut.com/l/_eSf4CgC6YqrM
https://dl.doubtnut.com/l/_CvNIHr8UWVMz
https://dl.doubtnut.com/l/_l1MFOEreziaq

20. Take away — 3z + 42% — 5z + 6 from 32® — 42 + 52 — 6

o Watch Video Solution

21. Take m> 4+ m +4 from —m?+3m +6 and the result from

m2—|—m—|—1.

o Watch Video Solution

22. Subtract the sum of 5y2 + vy — 3and y2 — 3y + 7 from 6y2 +y— 2.

o Watch Video Solution

23. What must be added to z* — z® + 22 + z + 3 to obtain z* + 22 — 1

?

o Watch Video Solution



https://dl.doubtnut.com/l/_nygSqn4OdiRu
https://dl.doubtnut.com/l/_sXpVH6Lz7iU7
https://dl.doubtnut.com/l/_IJQHrzEMNG8M
https://dl.doubtnut.com/l/_neUCgm66dzvI
https://dl.doubtnut.com/l/_x0oXXaJh4rLp

24. How much more than 222 + 4zy + 2y° is 5z + 10zy — > ?

o Watch Video Solution

25. How much less 2a® + 1is than 3a®> — 6?

o Watch Video Solution

26.1f x=6a+8b +9c,y=2b-3a-6candz=c-b +3a,find:

r+y+=z

o Watch Video Solution

27.1f x=6a+8b +9c,y=2b-3a-6candz=c-b + 3a,find :

r—yY+z

o Watch Video Solution



https://dl.doubtnut.com/l/_x0oXXaJh4rLp
https://dl.doubtnut.com/l/_1WC2HCYsbQrH
https://dl.doubtnut.com/l/_NpB14xZR1zPH
https://dl.doubtnut.com/l/_L9zjuuBH95W9
https://dl.doubtnut.com/l/_6MD2ITDgcxKP

28.1f x=6a+8b+9c,y=2b-3a-6candz=c-b +3a,find:

2 —y — 3z

° Watch Video Solution

29.1f x=6a+8b +9c,y=2b-3a-6candz=c-b +3a,find:

3y — 2z — 5z

° Watch Video Solution

30. The sides of a triangle are z? — 3zy + 8, 42> + 5zy — 3 and

6 — 3z + 4xy. Find its perimeter.

° Watch Video Solution

31. The perimeter of a triangle is 8y°> — 9y + 4 and its two sides are

3y? — by and 4y® + 12. Find its third side.

| ° WMl L \ 2 dana C Al iklmn


https://dl.doubtnut.com/l/_6MD2ITDgcxKP
https://dl.doubtnut.com/l/_g2vapsAzAolj
https://dl.doubtnut.com/l/_gACZF7YCyOtw
https://dl.doubtnut.com/l/_DIvOlGdtNJFj
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32. The two adjacent sides of a rectangle are 22> — 5zy + 322 and

2

dzy — z° — 2. Find its perimeter.

° Watch Video Solution

33. What must be subtracted from 19z* + 223 4 30z — 37 to get

8zt +222% — 72 — 607?

° Watch Video Solution

34.How much smaller is 15x — 18y + 19z than 222 — 20y — 13z + 26 ?

° Watch Video Solution

35. How much bigger is 5z?y? — 18zy* — 102’y  than

—52% + 62y — Txy?


https://dl.doubtnut.com/l/_DIvOlGdtNJFj
https://dl.doubtnut.com/l/_e9cMnCvKE8Oi
https://dl.doubtnut.com/l/_0NzD3zd4sKk2
https://dl.doubtnut.com/l/_HV4G05hR1BtP
https://dl.doubtnut.com/l/_ALX6EmHLpg70

° Watch Video Solution

Exercise 11 C

1. Multiply :

8ab® by — 4a’b*

o Watch Video Solution

2. Multiply :
2 1,
gab by — Za b

o Watch Video Solution

3. Multiply :

—5cd? by — 5ed?

o Watch Video Solution



https://dl.doubtnut.com/l/_ALX6EmHLpg70
https://dl.doubtnut.com/l/_GoytiWAwch3f
https://dl.doubtnut.com/l/_Z8YIvjS4Ugl4
https://dl.doubtnut.com/l/_wj7wnjouXYGX

4. Multiply :

4aand 6a + 7

° Watch Video Solution

5. Multiply :

—8zand4 — 2z — 22

° Watch Video Solution

6. Multiply :

20> — 5a — 4and —3a

° Watch Video Solution

7. Multiply :

x +4byx-5


https://dl.doubtnut.com/l/_wj7wnjouXYGX
https://dl.doubtnut.com/l/_nGt1YwQIBLCa
https://dl.doubtnut.com/l/_vhroe0zvxz4W
https://dl.doubtnut.com/l/_ZvT115ivUX5m
https://dl.doubtnut.com/l/_Dd9UqmpKHKhW

o Watch Video Solution

8. Multiply :

5a — 1by7a-3

o Watch Video Solution

9. Multiply :

12a + 5bby 7a — b

o Watch Video Solution

10. Multiply :

2?4+ z+1byl —z

o Watch Video Solution



https://dl.doubtnut.com/l/_Dd9UqmpKHKhW
https://dl.doubtnut.com/l/_fCrsYRl6brqp
https://dl.doubtnut.com/l/_nuUPGi3a21Sw
https://dl.doubtnut.com/l/_6i6ko3b0yzl3

11. Multiply :

2m? —3m —land4dm? —m — 1

o Watch Video Solution

12. Multiply :

a?, ab and b?

o Watch Video Solution

13. Multiply :

abz, — 3a’z and Th?z>

o Watch Video Solution

14. Multiply :

—3bx, — bxyand —7b3y2



https://dl.doubtnut.com/l/_pZN0kgRXENJt
https://dl.doubtnut.com/l/_X06T0D3PHOWJ
https://dl.doubtnut.com/l/_Tz9rZYXradab
https://dl.doubtnut.com/l/_OM9J1PZfvjPZ

| & Watch Video Solution

15. Multiply :

3 4
— 5$5y3 and §a2$3y

o Watch Video Solution

16. Multiply :
2 9
— §a7b2 and — Zab5

o Watch Video Solution

17. Multiply :

1
2a® — 3a®band — Eab2

o Watch Video Solution



https://dl.doubtnut.com/l/_OM9J1PZfvjPZ
https://dl.doubtnut.com/l/_R93kr2eGSng1
https://dl.doubtnut.com/l/_IQIZtAKBls9c
https://dl.doubtnut.com/l/_h8kLbiINd9Cr

18. Multiply :

2 —|—1 d2 1
T+ gyand 2z — oy

o Watch Video Solution

19. Multiply :

5z2 — 8zy + 6y — 3 by —3zy

o Watch Video Solution

20. Multiply :
5

2 16
3— —zy+ —zy? — —z%y by —21z%y

3 7 21

2

o Watch Video Solution

21. Multiply :

62> — 5z + 10 by 4 — 3z



https://dl.doubtnut.com/l/_v7hY6XoGwMjW
https://dl.doubtnut.com/l/_6ERJ2ve1ATVg
https://dl.doubtnut.com/l/_TU850IhVawCc
https://dl.doubtnut.com/l/_6MuNpxnBN44G

| & Watch Video Solution

22. Multiply :

2y — 4y° +6y° byy? +y— 3

o Watch Video Solution

23. Multiply :

5p® + 25pq + 4¢° by 2p* — 2pg + 3¢

o Watch Video Solution

24. Simplify :

(7z — 8)(3z + 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_6MuNpxnBN44G
https://dl.doubtnut.com/l/_RLHcyrfuFWyM
https://dl.doubtnut.com/l/_tdpYgZvXva5c
https://dl.doubtnut.com/l/_Fz1DdAXiIaeK

25. Simplify :

(px-q)(px +q)

o Watch Video Solution

26. Simplify :

(5a + 5b - c)(2b - 3¢)

o Watch Video Solution

27.Simplify :

(4x - 5y)(5x - 4y)

o Watch Video Solution

28. Simplify :

(3y + 42)(3y — 42) + (2y + 72)(y + 2)



https://dl.doubtnut.com/l/_xP2HIR34XzMk
https://dl.doubtnut.com/l/_1DKx2TEnf7Tj
https://dl.doubtnut.com/l/_XvxYexDF5p0y
https://dl.doubtnut.com/l/_ym5iRgCZKpB3

| & Watch Video Solution

29.The adjacent sides of a rectangle are z? — dzy + Ty? and z® — Sz’

Find its area.

o Watch Video Solution

30. The base and the altitude of a triangle are (3x — 4y) and (6z + 5y)

respectively. Find its area.

o Watch Video Solution

31. Multiply — 4zy® and 62y and verify your result forx=2and y=1.

o Watch Video Solution



https://dl.doubtnut.com/l/_ym5iRgCZKpB3
https://dl.doubtnut.com/l/_oh8hSLUAJVmM
https://dl.doubtnut.com/l/_h88FPjXOd3QG
https://dl.doubtnut.com/l/_gzdEBYaALuiv

32.Find the value of (3z%) x ( — 5zy®) x (2z”y2®) forx=1,y=2and z

=3.

o Watch Video Solution

33. Evaluate (3a:4y2) (2a:2y3) forx=1andy=2.

o Watch Video Solution

34.Evaluate (z°) x (3z%) x (— 2z) forx=1.

o Watch Video Solution

35.1fx=2andy=1,

Find the value of ( — 4a:2y3) X ( — 5x2y5).

o Watch Video Solution



https://dl.doubtnut.com/l/_429mYrHGLJWt
https://dl.doubtnut.com/l/_Y0P3rnXZgMa3
https://dl.doubtnut.com/l/_vo7yqh8BVF32
https://dl.doubtnut.com/l/_GGjBpoGLmGW3
https://dl.doubtnut.com/l/_thWhb28FoqwI

36. Evaluate :

(3z — 2)(z + 5) forx=2.

o Watch Video Solution

37.Evaluate :

(2z — 5y)(2z + 3y) forx=2and y=3.

o Watch Video Solution

38. Evaluate :

:I:z(x2 —|—y2) forx=2,y=1andz=1.

o Watch Video Solution

39. Evaluate :

z(x —5) +2forx=1.

Y.


https://dl.doubtnut.com/l/_thWhb28FoqwI
https://dl.doubtnut.com/l/_mPTBiPy9XzoB
https://dl.doubtnut.com/l/_QxvoPss9liEt
https://dl.doubtnut.com/l/_1Cn2a8LVMEgP

| ¥ Vvatch Video Solution

40. Evaluate :

zy?(z — 5y) + 1forx=2and y=1.

o Watch Video Solution

41. Evaluate :

2z(3z — 5) — 5(z — 2) — 18forx=2.

o Watch Video Solution

42. Multiply and then verify :

—3xz%y? and (z — 2y) forx=1and y=2.

o Watch Video Solution



https://dl.doubtnut.com/l/_1Cn2a8LVMEgP
https://dl.doubtnut.com/l/_chul7XUB0e1J
https://dl.doubtnut.com/l/_sF2ZPiQGh2m9
https://dl.doubtnut.com/l/_rsgBGvufWihX

43. Multiply :

22 —4x +5byx? + 3z — 7

o Watch Video Solution

44. Multiply :

(ab — 1)(3 — 2abd)

o Watch Video Solution

45. Simplify: (5 — x)(6 — 5z)(2 — x)

o Watch Video Solution



https://dl.doubtnut.com/l/_rlTiICJdBckO
https://dl.doubtnut.com/l/_LSUVxJUcJ9wV
https://dl.doubtnut.com/l/_LtednVpIHoKp

1. Divide :

—70a® by 14a>

o Watch Video Solution

2. Divide :

24233 by — 8y>

o Watch Video Solution

3. Divide :

15a*b by —5a3b

o Watch Video Solution

4. Divide :

—24zd by —22%d (3)



https://dl.doubtnut.com/l/_cUd3XoZy7sTZ
https://dl.doubtnut.com/l/_Hwccm5mRUQ6H
https://dl.doubtnut.com/l/_xE7e4xLpLFma
https://dl.doubtnut.com/l/_ULIfm53yCqMS

| & Watch Video Solution

5. Divide :

63ab7c by —9a2b'c?

o Watch Video Solution

6. Divide :

8z — 10y + 6¢c by 2

o Watch Video Solution

7. Divide :

15a3b* — 10a6® — 25436 by — 5a®p?

o Watch Video Solution



https://dl.doubtnut.com/l/_ULIfm53yCqMS
https://dl.doubtnut.com/l/_vOZSpvdvSfjq
https://dl.doubtnut.com/l/_CZVvP7dRLMQN
https://dl.doubtnut.com/l/_W6BMXfhuK08h

8. Divide :

—142%y® — 212%y® + 7x5y? by T2?y?

o Watch Video Solution

9, Divide :

o’ +7a+12bya+4

o Watch Video Solution

10. Divide :

z? + 3z — 54 by x-6

o Watch Video Solution

11. Divide :

122% + Txy — 12y° by 3x + 4y



https://dl.doubtnut.com/l/_RmoqrQcgiBmc
https://dl.doubtnut.com/l/_JOrH2EsK7x5i
https://dl.doubtnut.com/l/_cWUBTb4rMoFT
https://dl.doubtnut.com/l/_eYOBt0q4TGzJ

| & Watch Video Solution

12. Divide :

2% — 8byaz? — 2

o Watch Video Solution

13. Divide :

62> — 1322 — 13z + 30 by 22% — z — 6

o Watch Video Solution

14. Divide :

4a? + 12ab + 9b* — 25¢% by 2a + 3b + 5¢

o Watch Video Solution



https://dl.doubtnut.com/l/_eYOBt0q4TGzJ
https://dl.doubtnut.com/l/_qdOLV3IuTpN9
https://dl.doubtnut.com/l/_astlNaH5w8hS
https://dl.doubtnut.com/l/_k40vsfrQJmTQ

15. Divide :

16 + 8z + z% — 82% — 22 + 2’ by x + 4 — &3

° Watch Video Solution

16. Find the quotient and the remainder (if any), when :

a® — 5a® + 8a + 15 is divided by a + 1.

° Watch Video Solution

17. Find the quotient and the remainder (if any), when :

3zt + 62® — 622 + 2z — Tis divided by x - 3.

° Watch Video Solution

18. Find the quotient and the remainder (if any), when :

62> + & — 15 is divided by 3x + 5. In each case, verify your answer.

| e


https://dl.doubtnut.com/l/_lt7ytd5NwNht
https://dl.doubtnut.com/l/_o3A0LE9rKSBK
https://dl.doubtnut.com/l/_jwL68QZoBGH7
https://dl.doubtnut.com/l/_VGGkCMOfbzYK

| & Watch Video Solution I

19. The area of a rectangles is > — 82> + 7 and one of its sides ix x - 1.

Find the length of the adjacent side.

o Watch Video Solution

20. The product of two numbers is 16z* — 1. If one number is 2x - 1, find

the other.

o Watch Video Solution

21. Divide 2% — ¢/° by the product of 2> +zy+y’andz — v.

o Watch Video Solution



https://dl.doubtnut.com/l/_VGGkCMOfbzYK
https://dl.doubtnut.com/l/_IxDqUAxzzDw0
https://dl.doubtnut.com/l/_oHnMiFwuaxhN
https://dl.doubtnut.com/l/_fbyeMwZ7cNdD
https://dl.doubtnut.com/l/_u1xmDHK9pgMY

1. Simplify :

a’ — 2a + {5a2 — 3a — 4a2}

° Watch Video Solution

2.Simplify :

t—y—{z—-y—(z+y —z—y}

° Watch Video Solution

3. Simplify :

—-3(1—2%) —2{z* — (3—22%)}

° Watch Video Solution

4. Simplify :

2{m — 3(n +m —2n)}

° Watch Video Solution



https://dl.doubtnut.com/l/_u1xmDHK9pgMY
https://dl.doubtnut.com/l/_EKBRgmJPEa75
https://dl.doubtnut.com/l/_BCoNNl0B55jm
https://dl.doubtnut.com/l/_oSMsulIrsBRK

5. Simplify :

3r — [323 — {3$ — (3$ — 333—_3!)}]

° Watch Video Solution

6. Simplify :

Pz — 2{p:c — 3z (x2 — 3a — x2)}

° Watch Video Solution

7. simplify :

2[6 + 4{m — 6(7 — n + p) + ¢}

° Watch Video Solution



https://dl.doubtnut.com/l/_oSMsulIrsBRK
https://dl.doubtnut.com/l/_XShLooFPs5zP
https://dl.doubtnut.com/l/_rIgTMz8lcTbo
https://dl.doubtnut.com/l/_kpqv1ghkYSoD

8. Simplify :

a—[a—b——i—a—{a—(a—b—a)}]

o Watch Video Solution

9. Simplify :

3x — [4:1: —335——5y—3{21: — (3ac — 2z —3y)}]

o Watch Video Solution

10. Simplify :

a® +a® + 3a X 2a

o Watch Video Solution

1. Simplify :

5

T +(:B2><y2)><y3



https://dl.doubtnut.com/l/_BdOa3jCZJOJ9
https://dl.doubtnut.com/l/_7lDbyTOlnp90
https://dl.doubtnut.com/l/_uzuPDVGX00ze
https://dl.doubtnut.com/l/_A7LIYSfWKpcg

| & Watch Video Solution

12. Simplify :

(:I:5 +:B2) X y2 X y3

o Watch Video Solution

13. Simplify :

(v* —5y°) 2y x (y—1)

o Watch Video Solution

14. Simplify :

3a x [8b+ 4 — 6{a — (5a — 3b — 2a) }]

o Watch Video Solution



https://dl.doubtnut.com/l/_A7LIYSfWKpcg
https://dl.doubtnut.com/l/_NH5zP3cUTGOH
https://dl.doubtnut.com/l/_vF2T3EFz8hP6
https://dl.doubtnut.com/l/_X61oB5wzIpMi

15. Simplify :

T + 4{:1:2 + (5z +10)} — 3{2 — z® - (3m2 +z)}

o Watch Video Solution



https://dl.doubtnut.com/l/_MMjKfgDNoEHZ

